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SEAT NO.
INSTRUCTION FOR STUDENTS
Please read the following instruction carefully, and then answer the question on OMR answer
sheet.
1. This paper contains in THREE PARTs. Part-1 Q 1 to 50 for MAT, Part-2 Q 1 to 50 (Language Test)
and Part-3 Q 1 to 100 SAT (Math’s, Science and Social Science). Each question carries one mark.
2. All questions are compulsory.
3. The blank pages are given in this question booklet for rough work.
4. The OMR contains all the three parts, mark the answer at the appropriate and correct place as
mentioned in the OMR.
5.  You must have to submit the OMR Sheet to the invigilator on completion the examination.
6. Gujarati version of the question paper will be considered as final in case of any controversy

arising out of variation in translated version.
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Qewot-1/ Part-I

Hll@s &Hdl 5038l / Mental Ability Test
ygt «i.1 Yl 50 / Question No. 1 to 50

LAl B (Y HiLAH HIR)

(For Gujarati and English Medium)

o o{lA AN 1 ol U0 YU AissRARA As AssA RamlogfUR is AU dsaldl, AUl As s v

& % 2 Ul 451 Ystell ollA AR @Ascauidl RarigUR oluAUA vis AL

¢ In each of the following questions, a number series is given with one of the term missing. Choose
the correct alternative that will. Continue the same pattern and replace the question mark (?) in

the given series (Q-1 to 10)

1. 21,23,27,33, __?

(A) 37 (B) 41 (C) 43 (D) 49
2. 1,6,15__? _, 45,66,91

(A) 25 (B) 26 (C) 27 (D) 28
3. 2,612, 2 30

(A) 18 (B) 24 (C) 20 (D) 26
4. 107,97,82,62, 2

(A) 52 (B) 42 (C) 47 (D) 37
5. 2,1,4,3,6,58,___2

(A)9 (B) 10 ()7 (D) 8
6. 8,3,11,14,25 _ ?

(A) 50 (B) 39 (C) 29 (D) 11
7. 8,16,28,44, 2

(A) 62 (B) 64 (C) 66 (D) 60
8. 2,8,18,32,50, ?
(A) 64 (B) 72 (€)70 (D) 68

9. 1,3,7,1531,__2
(A) 37 (B) 36 (C) 73 (D) 63
10. 0,3,8,15,24, _ 2 48
(A) 41 (B) 29 (C) 37 (D) 35
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11.

12.

13.

14.

15.

ysl ol11 &l 15 ML esUl AR AsABN WAA B As wuslA ousloll el vuglaedll el ud
8. A sl 58 ?

In question No.11 to 15, four figures are given in each. One of the figures differs from the rest.

(A)

(B)

A

(©

7N

+é
(B)
&
(B)

>

1]

(B)

(€

<>

(D)

(©

%

(D)

(A)

(

Il

(B)

i

D)

17

(©

(D)

st .16 &l 20 1l wACA 2u5(A ysiedodll (7) woua Aou@scu ad dilds Aa yal s

In question No.16 to 20, figures are given with question mark (?). Complete the figure
replacing question mark (?) with suitable number logically.

(B) 15 ()17
|3 48 |
17. 51
2 9 |
(A) 25 (B) 20 (€) 32
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18.

20.

413 |2
6|9 |5
927]|°7
(A)30

(B) 26

(B) 51

(B) 20

(D) 45

(D) 44

(D) 54

yst ol.21 ¢l 25 Ui Y HOUERIA Aol AvAHS AGRRAUAL B Aol GUAL 531 Wed Y

AGELl HuALHS ololR(8ls) [AselHiall 0o A el

In question No.21 to 25, English alphabets are given digital numbers. Using them find the

correct code (number) for other English words from options given below

%l RAJU = 11-12-13-14 Wl JUNK = 13-14-10-9 82, ll RANK =

If RAJU =11-12-13-14 and JUNK = 13-14-10-9 then RANK =

(B) 10-11-12-9

(B) 10-11-12-9

(B) 4-26-14-13-12

(B) 4-26-14-13-12

(C) 11-12-10-9

(C) 11-12-10-9

(C) 23-12-26-14-13

(C) 23-12-26-14-13

(D) 45

(D) 45

(D) 2591541

(D) 2591541

(D) 90

(D) 90

(D) 12-11-10-9

(D) 12-1710-9

(D) 23-15-13-1-14

(D) 23-15-13-1-14

21 ol cuP=408l2A, A KITE=___ ?
(A) 10 (B) 20
21. If CUP =40 then KITE = ?
(A) 10 (B) 20
22.  ofl ZEBRA = 2652181 &l2L, cll LION =
(A) 1291514 (B) 50
22. |f ZEBRA = 2652181 then LION =
(A) 1291514 (B) 50
23. o BAG=718a, Al VICE=__ ?
(A) 69 (B) 70
23. If BAG =71 then VICE = ?
(A) 69 (B) 70
24,
(A) 9-10-11-12
24.
(A) 9-10-11-12
25. ol WORK =4-12-9-16 8, ll WOMAN =
(A) 4-12-14-26-13
25.  If WORK = 4-12-9-16 then WOMAN =
(A) 4-12-14-26-13
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26.

26.

27.

27.

28.

28.

29.

29.

30.

30.

31.

31.

32.

32.

33.

st ol.26 ol 30 i 2 HoueRlel s clecalell ABAs el dedAd A Yool [AsclHiel wu
galol UE $3.

In question No.26 to 30, if order of English alphabet is changed, code language is changed, then

choose their option from the given option.

EXCELLENT ol (€@ TNELLECXE (W3] ll MARKET ol HEQ g UL ?

(A) TERKAM (B) TEMARK (C) TEKRAM (D) TEKRMA
If TNELLECXE written instead of EXCELLENT then what is written for MARKET ?
(A) TERKAM (B) TEMARK (C) TEKRAM (D) TEKRMA

2l PQRS o UB[AS MM KIH Az, Al EFGH o A3(As el 9f vl ?

(A) VUTS (B) STUV (C) SUTV (D) WVUT
If PQRS is written as KJIH, then EFGH is written as

(A) VUTS (B) STUV (C) sUTV (D) WVUT

%l WXYZ=DCBA &\, il COME=?

(A) X& (B) XLNV (C) LNVX (D) LXNU
If WXYZ=DCBA then COME=?
(A) XKNV (B) XLNV (C) LNVX (D) LXNU

%l CARING=EDVGKC ol SHARE=UKEPBO &\, cll CASKET=?

(A) EDXIBP (B) EDWIAP (C) EDWPAI (D) EDWIBP
If CARING=EDVGKC and SHARE=UKEPBO then CASKET=?
(AFEDXIBP (B) EDWIAP (C) EDWPAI (D) EDWIBP

%\ PICTURE=QHDSVQF &2, cl BROWSER=?
(A) CQVVTDS (B) CQPVTDS (C) cQPUTDS (D) cQVPPDS

If PICTURE=QHDSVQF then BROWSER=?
(A) CQVVTDS (B) CQPVTDS (C) cQPUTDS (D) cQvpPPDS

wgoll Bgldo] Uctclset 531 Al Avaul A ¥ B otll o wuglaui

AQBEJ uLell el aau.

(A) 2 (B) 5 (€)9 (D)1

A Study the diagram and find out the number, that lies inside all the figures.
&

PN H (A)2 (B)5 (€9 (D)1

A As UEAH §lal dRs SR 531 58 “Aotl QAcltell U, HRL Wetell iy wa” A
Sletatoll calsal wllsal 9 alt ?

(A) 01t (8) Wlest (C) Hicll (D) (531
Pointing at photo of female, Ashok said “Her father’s wife is my wife’s mother in law. What is the relation

of Ashok with that female in photo ?

(A) Sister (B) Wife (C) Mother (D) Daughter
% 3 ARUeA Aol URA[A WA & A adnell siu Sloll WA & ?
(A) &2As0 (B) Uols0L (0 uRu (D) oAy
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33.

34.

34.

35.

35.

36.

36.

37.

37.

38.

38.

39.

39.

40.

40.

41.

41.

As relation of square with perimeter, what is the relation of circle from following in the same manner ?
(A) Area (B) Volume (C) Circumference (D) Side
423411223412244335341123

GURell 2islell Aului Aet 32cll 3 B BollWernoll 3is 4 Wal UL 2is 2 8l ?

(A) 4 ()3 (€2 (D)1
423411223412244335341123
In the above series, how many 3’s are there such that 4 comes atter 3 and 2 comes before 3 ?

(A) 4 ()3 (€2 (D)1
-8, b-£ 4, c-09L, d-HIwRL U8l ol Aottniell sellAscu dlds A Mot sH eald ® 2

(A) bacd (B) abcd (C) dcba (D) acbd
a-curd, b-milk, c-butter-milk, d-butter, are given. From above milk products, what order is logically correct
from following option given ?

(A) bacd (B) abcd (C) dcba (D) achd

o2 WA et : 2

(A) Audl (B) Mgl (€) ¥523l (D) dsulAs
Shoes : cobbler :: Food-grains : ?
(A) Trader (B) Farmer (C) Factory (D) Scientist

26-61ol3-1¢¥9 oll (R HolnclR lal,dl 2-URIUR-1¢ ¥ oll (B sl R &l ?

(A) Holn (B) oyl (€) 23 (D) 2R
On 26-January-1947 is Tuesday, then which day on 2-september-1947 ?

(A) Tuesday (B) Wednesday (C) Thursday (D) Saturday

8:25 cllod Al sllatl siel wal Hel siel dA ol dedl sl & ?

(A) 90° (B) 102.5° () 77.5° (D) 12.5°
What is the angle between hour hand and minute hand in the clock shows time 8:25.

(A) 90° (B) 102.5° () 77.5° (D) 12.5°
W@s yd Rauni 5 3.4 wA@ B. @urolte xRl oy 8 (3.l wA 8. s3lell stell w5 (5.
AUA B Ul stoll oloy 531 8 (3.l WA, A 6 A Yrelet (gell 32 g2 62 2

(A) 10 (L 8) 18 (3.:{L. (©) 31 3. (D) 13 (3.4

Maulik walks 5 km in east direction, then he turns right and walks 8 km, again he turns left and walks 5 km,
then he turns rest and walks 8 km. Now, how much would he for from his origin ?

(A) 10 km (B) 18 km (C) 31 km (D) 13 km
ol & Yd s yut AWl GAA ¢ ol 100° U utcofl (ol (clockwise) ol 145° ulaune{l (A3eu
(Eouni (Anticlockwise) $3 L § 58 (Eaumi yuw vl Gel &l ?

(A) GR-ydl (8allel)  (B) E[ARL-Y (ABA)  (C) GrlR-UBM (ctaca) (D) UM

If is stand by keeping mouth in east direction and turn 100° clockwise and then turn again 145°

anticlockwise, then in which direction keeping my mouth will I stand ?

(A) North-East (B) South-East (C) North-West (D) West
200 WSl el cussati sl siell sierell 18 i 52 B, A el syl Ao Lt 3ad olQual ?
(A) 182 (B) 183 (C) 184 (D) 218
In a line of 200 players, Kartikey’s sequence is 18" from left side, then what is his sequence order from
right side ?
(A) 182 (B) 183 (C) 184 (D) 218
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o Usl ol.42,43,44 Hl WS 2AGE WAL US B A sl D »?

¢ In question No.42,43 and 44 one word differs from the rest. Which one is that ?

42. () (BAlleR (B) Aodla{le? (©@e? (D) ustata

42.  (A)Kilometer (B) Centimeter (C) Liter (D) Light year

43. (A gu (8) «ll (C) HLWRL (D) Act

43.  (A)Milk (B) Ghee (C) Butter (D) Oil

44.  (A)AUMELAE (B) olitllotolR (C) A5 (D) {o®

44.  (A) Ahmedabad (B) Gandhinagar (C) Newyork (D) Mumbai

45, RAUA Rl dA BA Aoit & Al . AUA. w ol el AcelMiel sl W 63 2
(A) ol HEUOEEE (C) o205 (D) 1§

45. There is a relation between India and Delhi. Which of the following words has
the same type of relation with U.S.A. ?

(A) Mumbai (B) Washington (C) New York (D) Stanford
6. Q4+ WeAx XA HEA =, + A WEA -, uA —A WEA + AcHl A A ol Astlef

AEIU UL 2 ol HA ? 18-(24x3) = 8
(A) 18 (B) 16 (C) 15 (D) 12
46. |If x in stead of +, + in stead of x, - in stead of +, and + in stead of - are considered,
then what is the answer of following by symlifying ? 18-(24 x3) + 8
(A) 18 (B) 16 (c)15 (D) 12

47. s duUlell 30% oll 30%9 &l cl d AvAl 58 ?

(A) 200 (B) 100 (C) 300 (D) 18
47. 30% of 30% of a number is 9, what is that number ?

(A) 200 (B) 100 (c) 300 (D) 18
48. 233 =6 UHUol, 2 ASR%ol =8 3 HA, A 133 Acllal (lEA 32l 3 HOL ?

(A) 12 (B) 24 (€6 (D)8

48. 2 mangoes = 6 apple, 2 apple — 8 bananas, so instead of buying 1 mango, how many
bananas are available ?

(A) 12 (B) 24 (c)e6 (D) 8
49. 12 e ulBanetl A siel cAsll WRlle] HIU 9 &2 ?
(A) 180° (B) 0° (€) 90° (D) 45°

49. What would be measure of angle between hour hand and minute hand, when
clock shows time 12 o’clock ?

(A) 180° (B) 0° (c) 90° (D) 45°
50. A5 {250 Hlzr uslull Uss 75 AsesHL UAR 531 A B, A Al HQRe(l BsU

¥ecl (3.4 /scusoll aal ?
(A) 10 (B) 12 (C) 12.5 (D) 15

50. A man passes road of 250 meter broad in 75 second. What is the speed of man in Km/hour ?

(A) 10 () 12 (c)12.5 (D) 15
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10.

11.

12.

13.

14,

15.

16.

17.

18.

19.

(Qeuat-2 eurtt sA3L (A Al HiLAH HIR)

oRRle M3l sl A 23U HR selldl & ?

(A) yed(Qa (B) VUL () 518l (D) 2Rl
'losoll otiHell wdtolle sall eRal (Botz goll sl 2

(A) Hgall (B) et (C) WROiER (D) Hiscll
AU SIRAHL SlcAAlUS Boitlo] WA Y HIA B ?

(A) AUElA 56 B)dld oie (C) AscIR (D) sclct
dl@s HeolRl AUR sl 9 clell odll ?

(A) 0L (8) llunt (C) Aot (D) &lRL
'Sletot Al W2 sell oAl (A el & 2

(A) otle (B) olclGARAM, (C) s8lollcllA (D) Y€
HlRIows sl Wcltell Wy A & 2

(A) YyHaU (B) 2leil (C) Bsl (D) Motet
AgNedRl GUR ¥Ag(R sal EA 53 ?

(A) wAE (B) Bont cl (C) AME L (D) Ucleiz
ciroll GuR sl AsLA B ?

(A) dogati3l (B) 5™ (C) A (D) Bucy
UMY yecl As 530 © - Al YsRel (AUR sall slcauMl cusd A & ?

(A) [Q2UA 0L (AR (B) 8% HIRL EQ (C) AlUsll (D) Alee
SR Sloll ExisyYat &l ?

(A) YA HEA (B) Aol Hall (C) Gouls URHIR (D) st a
cRAH Glg WMl AsL ollgUuuis Ul ollesHil AatHl wicll B ?

(A) Reu@tet (8) ctaxll (C) dJELL (D) 2RRULL YR
'ldslRte] As Ule]' ML sl Aol AHLALL otell ?

(A) cdld (B) AR (C) RLAUL H&ll (D) AHoU
3@yolell sl wel WA B ? -"As iotellA wRel $4."

(A) As widtollul usg (B) A5 % ALl GUDL §A

(€) A udillal 8l (D) As uPLfl UR @R Al
AR ARAlotal 9 WaRlaal 53 B ?

(A) Aot MR (8) A2l (©)as (D) £
"YHEG AWse] LM -

(A) BHdclA AHRIG £ (8) AlQueLs ety EUY

(€) oUReisR slatletum Bl (D) selauctle Yotall
AR Asell 58 B 2

(A) 2RGERA (8) AR (€) YRERA (D) gl

QRQUBe YR’ UL ollAf cllsd Sloll HI2 s & ?
ned sleloll 22 slealefl, WH SIUAA UILA ele Acll Gl RElaL A ¥ €l ue? Wouslat »»

(A) RRAY (B) 214} (€ A Acl (D) ASlotl
Aot Aol UoURHL sist sL8lal et 3w AsAA ol ?

(A) 200 3(Q2u (8) 90 3L (€) At 3= (D) 190 3
nglec” sleaAMi sisl UdoL slIAAsS? Ao et 53 B 2

(A) uisLalell cte ell et (B) GML (C) MUl (D) il Sl As Uyl o8l
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20 quRA €613 AscUw Uil Auisall Ue{l Ul Ulal 2 58 2R Y& © ?
(A) Quisell Ul Wa uel Ul Yletell sl &al.
(B) U HEA GsLON tlotlcll AUl
(©) A Yletott €5 30 AU Ul daut auall usal.
() Aus Al Uletoll 23 53 Al Aoll uclla 3Asclusll As sl viutadl
21 ol Aot Qe AcEHL 58 %Bls Wl ol 2
(A) galoa - Ageuo (B) s€cl - sBH
(C)RAS - o (D) Wu-yeu
22, ygse A AUl wsse Auisal 9 Ae WA B ?
(A) 2{lotet (C) MG olet (D) 28lAR
23, [(aQsiet 2oeld sl B 2
(A) A\t (B) GCU® 21 A¢ (C) 182 (D) [Quailct
24, wgslall sa ouMoll A Yall ® ?
(A) 5LGNER (C) UrlEN (D) SHIAUR
25, "W UR M O1sY ?' Hl Ausay sisl WSA 9 Hole ol AW,
(A) UdG Hotui Aasl Ad.
(B) 2etosel, sltfdoetl cliRell (AR ©lS) &all.
(©)®ctot g, Al wal sl 8l A,
(D) L USloll LK
26. 53l cldloll dllause] sliH RUAl.
(A) 818 (C) LAHALA (D) uu2ll
27. opik........ ollde] W(As 23 53 &d.
(A) Hrsct () eil3=n (D) U0t
28. ‘YR’ UM A5 SlQL ?
(A) oAHEL2ISR cleeis? €A () HQlclet sRel U2
(€) %A {los sR2is2 £ (D) Y3U YotHeus
29, QRaL Aseall U wRUAl.
(A) &Hlotoll 201 (C) otloL (D) IR
30.  vuisslcloll %ots A3y slol WRtu unal ?
(A) Sloct (©) sl iy (D) o Lell
31 ‘lellet’ AaleHl Aoll HEHL salHl vl B ?
(A) dlgfauau (C) HldallicAt (D) Qqalica
32, ‘At A, [t Slcdot — vl [ARucll ole FHIR UASR ALl
(A) Gunl (B) cRlejuLt (C) G (D) 3uUs
33, ‘oo RaRUR A2 gl heUl ealley B 2
(A) AU (€) GAal (D) cdlctlQest
34. 518l GURicl R1Llst, WAL, AUEL caRUsW Ball Aullollo(l Uell $aIR....
(A) UHloie (B) otRls Ml (C) WHA &g (D) tll2L elote
35.  ‘oreill’ Ml sl ettal el AclHi 2% & B 2
(A) Hld, cllicuiellel (B) ELURIGLCL (C) Bateua (D) @lldedal
36. @ Floll ull yaud ol sl Al A Blla 9 sdau ?
(A) (Qucl (B) MR teidst (€) Aewducldl (D) Rl
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37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

UG Al clcAlHl ALl Wllo] ol 53 B ?

(A) elel 3u3Ru (B) Qe (€) ¥os3@oL eLeL (D) Al
U (3R ¥ GUolld sl Aus HIZ ] ?

(A) ARG Qlelld WES (8) Assicd well

(©) sifQetd Qe JNde (D) %2 llos £Q
UolYHALA H3cllotll AL AAA] stacsale] ol xR

(A) R 9L (B) R3LcAR3L (€) @RuUcA U olost (D) WA U
oLy dlHi HOg — 2oeall W g w ?

(A) Bs claugedl Hag (B) Hicllal dlelniell Hag

(C) ARUHL Hg (D) Al HeRUL $d,
o Astimiell ‘@250 ol Al AR SRAl g2l

(A) AR+52 (B) [Aly+igal (€) Ra+vigal (D) Ra+igal
ol Aottnidll tofy+s1R ofl AAL AR A3\

(A) U8R (B) o™ S1R (C) dofesl? (D) UofALSIR
atd syl ol ud...

(A) URBusal @)Yl A ad o3 Ag () AUURUsA (D) L USl As Uyl @
AU OB — AU

(A) W8l dey3a™ () sHuRA AUHIAU (C) Gogh AHA (D) ciglael
‘6% AsEq] [Qlre 3u YAl

(A) 555 (B) ctRct (C) 2o (D) &AM
HaleRctatl YL WURA ol Actuiell 58 s(Q & 2

(A) BUSL Aot Hololl  (B) %of MaRUR (€) lAstet (D) Ust
(LAt Mo elgell Ut 58 B 2

(A) 81R (B) &3l (C) 2HO A Qeus (D) 4L U8l As ugl A8l
s{lHE eataddall sUSR SRl &l ?

(A) AU (B) Y5t % (€) deRllelt (D) sUAEL
vllell ASL URL 6 (ARA Ul sl B — cltsaMl (AUl sRu.

(A) ALl (B) uBL (c)&ed (D) Ucll
Alslloll &l A@d [oluni 58 cotrulQell suRaule] cot Yol vests Aol B A B ?

(A) 2ll1on (B) H&S\ (€) 3ysl (D) dGell $uc
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Part — Il Language Test (For English Medium)

e Choose the correct option.

1. Give the name of poet of poem, 'The petroit'.
(A) Robert Browning (B) Henry Fransis Lyte
(C) Hans Anderson (D) Laurance Houseman
2. Prof. Hawking earned fame for which research ?
(A) Mystery of Plants. (B) Mystery of Black hole.
(C) Mystery of Space (D) Mystery of Aging.
3.  What is the meaning of conjurer ?
(A) Wonder (B) Scholar (C) Magician (D) Musician
4. The poem 'Independence' is taken from the collection from
(A) Propa Propa Ganda (B) Life is fine
(C) Daddy (D) The poor ghost
5. On which date did the fire start ?
(A) August 14, 1966 (B) January 16, 1966
(C) September 2, 1966 (D) March 1, 1966
6. The author of 'A visit to cambridge' felt relief and exhilaration because
(A) His body was strong.
(B) Hawking was weak.
(C) He had suddenly gained strength.
(D) He learnt that even the disabled body could do a lot.
7. 'The little match girl' stroy is famous for
(A) Its poignant tragedy (B) Because of its beauty
(C) None of these (D) Both Aand B
8. 'Under Fire' by Laurence Housman which character is not found ?
(A) Prince Albert (B) The Queen (C) Andrea (D) Court Usher
9. Who wrote the poem 'Ants' ?
(A) Anon (B) Whittier (C) Henry W. Longfellow (D) Grabriel Okara
10. The author Mulkraj Anand says, "Mustard field like melting gold because_
(A) The mustard flowers are yellow in colour.
(B) The mustard flowers are golden yellow in colour.
(C) The mustard flowers are red and yellow in colour.

(D) The mustard flowers are green and yellow in colour.
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11. Who understand the value of independence or freedom ?
(A) Slave (B) Owner (C) Servant (D) Merchant
12. What was the name of the ship that sank after being hit (to strike against) by an iceberg ?
(A) Oscar (B) Vikrant (C) Titanic (D) Cruise
13. The Ants work in
(A) Individualy (B) Separately (C) Gang (D) Couple
14. Marcus hated
(A) walking (B) barking (C) dreaming (D) sleeping
15. Jim Bishop’s father was__
(A) a priest (B) a policemen (C) a soldier (D) a diamond merchant
16. The poet compares the songs sung by his mother with__
(A) cuckoo’s song (B) hymns (C) tinkling sounds of streams (D) din
17. __ was Miko’s weak point.
(A) Imagining (B) counting (C) minding sleep (D) complaining
18. When Dr. Sher Singh checked the patient’s reflexes. They were_

(A) loud and clear (B) onthe dot (C) clear and strong (D) weak and unsteady

19. The instructor was rather shocked to see that the writer had drawn in his book.
(A) stem cells (B) Flower plants (C) his own eye (D) alens
20. Bolenciecwez was asked a question on that he could not reply even

after a lot of prompting till very late.

(A) Plant cell (B) mechanics of flora (C) means of transportation (D) Animal cells
21. ‘A worng Man in worker’s Paradise’ is written by

(A) James Thurber (B) Jan morris  (C) Ruskin Bond (D) Rabindranath Tagore
22. Jerome K. Jerome was not having only one disease and that was______

(A) St. vitus’s Dance (B) gout (C) house maid’s Knee (D) Zymosis
23. The poet in the poem ‘commuter’ takes his lunch.......

(A) in his office  (B) at his house (C) in the canteen (D) at a restaurant
24. The level of noise made by a motorcycleis__ decibels.

(A) 100 (B) 90 (C) 80 (D) 85
25. The writer of ‘mulch Ado About nothingis___

(A) Jan Morris  (B) Dale Wimbrow (C) Will Stanton (D) D.E.V. Lucas
26. Robert Burns compares his love with

(A) seas (B) a sweetly played melody (C) rocks (D) sands of life
27. The poem ‘Milk for the cat’ is written by

(A) Harold Monro  (B) Anonymous (C) William Morris (D) D.H. Lawrence
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28. |went into the kitchen and addressed him (make simple)
(A) I had gone into the kitchen and addressed him.
(B) Going into the kitchen, | addressed him.
(C) I addressed him when | went into the kitchen.
(D) on addressing him, | went into the kitchen
29. Nothing can move me. (Add a question tag)
(A)canit? (B)can'tit? (C)couldn’tit? (D)didn'tit?
30. Iam so clymsy. (Make it Negative)
(A) | cannot resist being clumsy.
(B)!I can refrain from being clumsy.
(C) 'am not so.
(D) I cannot avoid being confident.
31. I wish | could get some sleep. (Turn into Exclamatory Sentence)
(A) Oh! To get some sleep. (B) Alas! To get some sleep.
(C) Wow! To get some sleep. (D) What a wish to get some sleep!
32. ‘Each drowsy paw is doubled under each bending knee. (indentify the figure of speech)

(A) metaphor (B) Transferred epithet (C) Euphemism (D) Apostrophe

33. Ican not think how he recognized it. (make Interrogative)
(A) Can I think how he recognized it ?
(B) How do I not think he recognized it ?
(C) Can | not think he recognized it ?
(D) Can I think he did not recognized it ?
34. He was still able to hear anything connecting to food. (Make Complex)
(A) He was still able to hear anything that was connected with food.
(B) He was still able to hear anything connected to food.
(C) Anything that was connected to food still be heared by him.
(D) Both Aand C
35. Ear-rings are a form of vanity we can’t afford. (Make Affirmative)
(A) Ear-rings are a form of vanity we can afford.  (B) Ear-rings are a form of vanity we can’t disafford.
(C) Ear-rings are an unaffordable vanity for us. (D) Ear-rings are a mis affordable vanity for us.
36. |was glad her dream came true. (Make compound)
(A) Her dream came true and so | was glad. (B) | was glad that her dream came true.
(C) I was glad and her dream came true. (D) I was glad due to her dream come true.
37. Will you give me one of your pitchers, one that you can spare ? (Make Assertive)
(A) You give me one of your pitchers, one that you can spare.
(B) Please give me one of your pitchers, one that you can spare.
(C) You should give me one of your pitchers, one that you can spare.

(D) You will give me one of your pitchers, one that you can spare.
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38.

39.

40.

41.

42.

43.

44,

45,

46.

47.

48.

49.

50.

The entire hearing aid can be contained in a button-size package system. (Change the Voice)
(A) The entire hearing aid can contain in a button-size package system.

(B) A button-size package system they could contain the entire hearing aid.

(C) In a button-size package system the entire hearing aid is contained.

(D) A button-size package system can contain the entire hearing aid.

Give the Noun form of ‘Expose’.

(A) exposition (B) exposed (C) exposure (D) exposement

Give the Opposite of ‘Fact’.
(A) story (B) Fiction (C) horror (D) Reality

Choose the correct option for the underline word in the following sentence.
The man was taken to task by busy farmers.

(A) Compelled to do odd jobs. (B) scolded (C) appreciated (D) criticized

The Adjective form of ‘Picture’ is

(A) Pictural (B) Picturable (C) Pictorial (D) Picturesome

Give the verb form of ‘Choice’.
(A) choise (B) choose (C) choosify (D) choicify
The Antonym of ‘opaque’ is
(A) transparent (B) transparency (C) transpire (D) transfer
Give the Opposite of ‘freedom’.
(A) diligence (B) liberty (C) laziness (D) slavery
The phrase ‘dead end job’ means___
(A) unstoppable work  (B) unending work (C) frustrating work (D) undesired work
Change the Voice. — Let that be listened to.
(A) Listen to that  (B) That should be listened to  (C) That should listen to you (D) Listen to it.

They were friendly and eager to help a neophyte like me. (use ‘so.....that’)
(A) They were so friendly and eager that to help a neophyte like me.

(B) They were so friendly and eager that they would help a neophyte like me.
(C) They were so friendly and eager that they will help a neophyte like me.

(D) They were so friendly and eager that to help a neophyte like me.

They had put it off too long. (Remove ‘too’)
(A) They had put it off very long. (B) They had put it off not to long.
(C) They had put it off before long. (D) They had put it off over long.

Give the Adjective form of ‘Pretend’.

(A) Pretence (B) Pretentive (C) Pretention (D) Pretense
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@ewot-3 / Part-Ill
auouslal Al sAEl / SCHOLASTIC APTITUDE TEST
a@ld / Maths

% A={1,2,3,4}, B={2,4,5,6}, U={1,2,3,4,5,6,7} &L, L A’ B'=___

(A) (B){1,2,3,4,5,6} () {7} (D) {3,4,5,6}
if A={1,2,3,4}, B={2,4,5,6}, U={1,2,3,4,5,6,7} then A’ B'=

(A) (B){1,2,3,4,5,6} (©) {7} (D) {3,4,5,6}
—=atl Beq] ANAlsw salugdl dqf uleun 8.
(A) (B) v () ! (D) !
An equivalent expression of 7 after rationalizing the denominator is
_ - _ _
(A) (B) (c) (D)
s\ | ol As WA flA, Al
(A) 2 (B)9 (C) 18 (D) -18
If is a factor of then the value of Kis
(A) 2 (B)9 (c)18 (D) -18
L | ARQNHI ULR A B.

(A) udef A Aly ol (B) ol waA Al ol (€)ALY uA WY oid (D) udd, ollyual AY
Line passes through the____quadrants.

(A) 1" and 3" both (B) 2" and 3™ both (C)3™and 4™ both (D) 1%, 2™ and 4™ all

of| oll WRURAell MU 1:2:3 oll YHIQHL 8l21, Al Alell oltotl wRle] MY B.
(A) 30° (B) 60° (€) 90° (D) 120°
If the measures of the angles of are in proportion 1:2:3, then the measures of the

smallest angle is

(A) 30° (B) 60° (€) 90° (D) 120°
ALy A5l o{l oley D, wUA ol ea@gA AuosAP, QA R
® 0 PBCRo{l uRME@___ A ®.

(A) 18 (B) 15 (€) 9 (D) 12

respectively. The perimeter of o PBCRis

(A) 18 (8) 15 (©9 (D) 12

W Wl AU B wA  uel A4 D, A AB=10 1, AM=6 1l uA
CN=12 alﬂ,cﬂ BC= Al
(A) 20 (B) 10 (C)12 (D)5
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10.

10.

11.

11.

12.

12,

13.

13.

14.

14.

In , let be the altitude corresponding to the base "~ and the altitude

corresponding to the base_ ", If AB=10cm, AM=6cm and CN=12cm then BC= cm.

(A) 20 () 10 (c) 12 (D)5

UHYx ol QRALlgxHIMAs adn urRaR B. oy dd@iell dos DA HIUall
BRI AR

(A) 30 (B) 60 (c)90 (D) 120
A circle passes through the vertices of an equilateral . The measure of an angle subtended
by the side  at the centre of the circle has measure______

(A) 30 (B) 60 (C) 90 (D) 120
Asalell ool colts 3:4:5 ol YHIQMHL 8la,dl (5lgle] astsc_ ARA AsU UA, »Ul
A8l WA 144 B.

(A) 64 (B) 364 (C) 564 (D) 864

If the lengths of the sides of a triangle are in proportion 3:4:5, then the area of triangle is sq.
units, where perimeter of the triangle is 144.
(A) 64 (B) 364 (C) 564 (D) 864

A gigell Boauel oEllck 2:3 & A Aol ARl QB YRR 9:4 B, Al AMell dAsAUElsll
Astsnall ol el
(A)3:2 B)1:2 ©1:3 D)y2:3

The ratio of radii of two cones, is 2 : 3 and the ratio of their slant heights is 9 : 4. Then the ratio
of their curved surface area is
(A)3:2 (B)1:2 (C)1:3 (D)2:3
A AHAA RssRAA As cduld Golndl cial Rsst U 9iu ud Aol etctsll B.
(A)— (B)- Q- (D) -
The probability of getting both heads, when two balanced coins are tossed once is
(A) - (B) - (- (D) -
Al ol yelal=
(A)3 (B) 2 (c)—3 (D) —2

The characteristic of the number =

(A)3 (B)2 (c)—3 (D) —2
% Auloll AsHall s 2 8l2, Aol Uotoll AsHol vis__ &l
A) 1 (8) 2 ©8 (D) 4
A number having digit 2 at unit place then its cube has digit______ at its unit place.
(A)1 (B)2 €8 (D)4

3-ct udell Rl AR Yolloll GHReA ARl 40-ct sl 2-ay Ul AMoll GHRA AR ay 2.
(A) 40 (B) 46 (c) 50 (D) 60

3-years ago, the sum of ages of a father and his son was 40 years. After 2-years, the sum of ages

of the father and his son will be

(A) 40 (B) 46 (C) 50 (D) 60
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15.

15.

16.

16.

17.

17.

18.

18.

19.

19.

20.

20.

ol U Aol AHIUCAL B, % AB+BC=10 sl DE+EF=12 dal AC=6,
Al DF=

(A) 6 (B)5 (7.2 (D) 16
Correspondence of and is similarity. If AB+BC=10 and DE+EF=12 and
AC=6, then DF=

(A) 6 (B) 5 (C)7.2 (D) 16
H— — = adl
(A) 90 (8) 30 (c) 60 (D) 45
In y f—  — N then
(A) 90 () 30 (c)60 (D) 45
B 7 A2 AYSQlell HIU Bl el da, Al v
(A)1 (8)0 (€)-1 © v
If 76 and 26 are measures of acute angles such that , then
e
(A)1 (B)O (€)1 o)y Vv

elaRel sy L UR - wal ) Ll e A gell atarell 2lustt GRUSWRLet HIU
30U 608, Al alaRe{l G 8.

WV ®)vV v (0) V-
If the angles of elevation of tower from two points and ( ) meters from its foot on the same side
of the tower, have measures 30 and 60, then the height of the toweris____
AV B)V v (D) V-
( )ellAswa, () AuA, A ool dous__ 3l
(A8 (8) 10 7 (D) 6

Achordof () touches ( ). Therefore the length of the chord=
(A)8 (B) 10 ()7 (D)6

o{lA A HB Al ez adl .

ol 0-10 | 10-20 | 20-30 | 30-40 | 40-50

wgR | 7 15 13 17 10

(A) 40-50 (8) 30-40 (c) 20-30 (D) 10-20

The median class o the frequency distribution given below is

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50

Frequency 7 15 13 17 10

(A) 40-50 (8) 30-40 () 20-30 (D) 10-20
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elllds 2wt / Physics

2L Y@ swNT Qoll clesoll Rauni Gwllat ctescl_ —— Recll dlat B.

(A) 3500 (B) 385 (C) 35000 (D) 35

21 Thermal conductivity of standard SWNT along its length is —

(A) 3500 (B) 385 (€) 35000 (D) 35
22, dysd ygHeds 2ol %1 5 AL sl 20 AL 30w dousaton olldolnn Aot AURLAL sl Al
Aiell sl clRslU U sl AAsIU 62 ?

(A) 20 AL 3os Aatl8UN cxgsiu wal 5 AL Fos collgall AASIU
(8) 20 AL ¥os collgoll AaslU wUA 5 A Jos Aol clResLU
(C) cRSLA A AAsIU ol 20 A.HL Jos Actttsell Sl 331 B.

(D) clRegsLU AR AASIA ol 5 ML Fos dolatl Sla %33 B.

22. The compound microscope consists of two convex lenses of 5cm and 20cm focal length, then
which of them will be object lens and eye piece ?
(A) Object lens with 20cm focal length and eye piece with 5cm focal length.
(B) Object lens with 5cm focal length and eye piece with 20cm focal length.
(C) Both should have 20cm focal length.
(D) Both should have 5cm focal length.

23. ol BadlddAcl uivioll Aol 3o clotesHl 3512 UL A3 B.

(A) 818l (B) Axtued (€ Aclladl wtxpll (D) slellst
23. The focal length of an eye lens is changed due to the action of

(A) Pupil (B) Retina (C) ciliary muscles (D) cornea

24, 5Q el WAAUS AlRell As AVUULA 551 53 AHA UHIAR AScllHl WA Al Axell AHGEL
wRAuU__ ud.
(A)- ®)10Q ©5Q (D)25Q
24. [f the five equal pieces of a resistance wire having 5Q resistance each is connected in parallel,
then their equivalent resistance will be
(A) - (B)1Q (50 (D) 25 Q
25 As dles AR 2A FeA (Agdycle 1 AlAe H2 AR sl WA B, ul dRMiEl AR adl

A [Qgdeur ¥edl & ?
(A)2C (8) 30C (c)60C (D) 120C

25. The amount of 2A electric current is passed for 1 minute through one conducting wire. How
much total electric charge will pass through this wire ?
(A) 2C (B) 30C (C) 60C (D) 120C

26 drdal sall e Ysaledl oll@olln Aot ad o] cRdAs, Qe ua Aol B2l % QU] yldllol
HAL ?
(A) Jud Jos UR (B) YUl 308 A AsAFon AR

(C) Ascl 30% UR (D) Yuudos A Yslallad dos A
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26.

27.

27.

28.

28.

29.

29.

30.

30.

31.

31.

32.

32.

33.

33.

At what distance should an object be placed to obtain its real, inverted and of same height as
the object by a convex lens ?

(A) At focus (B) Between focus and centre of curvature

(C) At centre of curvature (D) Between optical centre and focus

818 As clgotoll A2 5 AsoesHL  — Ul atlld — &, Al Aol YAdlej He 32¢f 62 ?
(A — (8) — (@ — (D) —
Velocity of a vehicle increses from —to  —in5 second. What is the magnitude of
acceleration ?
(A — (B) — © - (D) —

ool Aol WelR +5.0D0 82, cl Aol 3o clouss 3ecll ?

(A) —10 AL (8) —20 A.HL. (€) +10 AL (D) +20 AL
What is the focal length of a convex lens having power + 5.0 D ?

(A) —10cm (B) —20 cm (C) +10 cm (D) +20 cm
1 Newton = dyne.

(A) 10° (8) 10" (C) 10° (D) 10°
1 Newton = dyne.

(A) 10° () 10° (c) 10° (D) 10°
Y5l Uctol UWHAL UELHoAHL 1 AsesHL Al autRl ala B,

(A) 9-8 m/s’ (B) 9-8 m/s (C) -9-8 m/s* (D)-9-8 m/s

The increase in velocity of a freely falling body in one second is

(A) 9-8 m/s’ (B) 9-8 m/s (C) -9-8 m/s’ (D) -9:8 m/s
As Ueld 20 m/s ofl B3sull Q0L Rl Iscuul waA B, A ¥ecll QlUs UR Aol ol Gt
RAMA Gt UHLet U ? (g = 10m/s?)

(A) 10m (B) 20m (C) 15m (D) 5m

An object is thrown vertically upwards with velocity of 20 m/s. At what height will its kinetic
. 2

energy and potential energy be equal ? (g = 10m/s°)

(A) 10m (B) 20m (C) 15m (D) 5m
oA Usl 58 wgRal Ll uRAsied & ?

(A) 30 Hz (B) 300 Hz (C) 3000 Hz (D) 30,000 Hz
Sound corresponding to which frequency is ultrasonic sound ?

(A) 30 Hz (B) 300 Hz (C) 3000 Hz (D) 30,000 Hz
WAs AaAsA ARy [Rauul skm Beq ddR 51U §. clR6lle A @l RauHl 12km Beq BdR 51U

8. UL ARASEA AR $E WlollcdRe] YA 3¢ ?
(A) 17km (B) 13km (C) 7km (D) 2ot
A cyclist travels 5km in the east direction. Then he travels 12km in the south direction. What is

the magnitude of displacement of the cycle ?
(A) 17km (B) 13km (C) 7km (D) zero
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ULARLWRE / Chemistry
34 sARIYS BlAotHl el 8Aset Sl B ?

(A) 17 (B) 18 (C) 16 (D)8
34. How many Electrons are there in chloride ion ?
(A) 17 (B) 18 (C) 16 (D) 8

35, sl dsilly uwes QaH uRl ?

(A) (8™ (B) 2A A AHA (C) SlcRat (D) SletRatR

35.  Which Scientist gave the rule of octet ?
(A) Lewis (B) Rayleigh and Ramsey (C) Dalton (D) Dobereiner

36 sullyslle] RAW2AQS M 9 & ?
(A) 3@ AsWss  (B) SEA@aU stellade () 3(@AH slBJsUss (D) slelet SLRASUES

36. What is the chemical name of quick lime ?
(A) Calcium Oxide (B) Calcium Carbonate
(C) Calcium hydroxide (D) Carbon dioxide
37 ugtetelloll Fordroll Elet HIZ sl (3R00 quRA B ?
(A) QUR (B) 5as (C) X2 (D) r-2

37. Which rays are used to diagnose cancer of esophagus ?

(A) Laser (B) Cathod (C) X-Ray (D) r-Ray
38. 25°C=____ K.

(A) 273 (B) 248 (C) 298 (D) -298
38. 25°C=_____ K.

(A) 273 (B) 248 (C) 298 (D) -298

39 o{lAotmiell % RoSlA WUR (Tyndall effect) €20 & ?
(A) el Hlslof slarl  (B) gY (€) cllogall 21 (D) SIUR ACke (HRYY) o alaal

39. Which of the following shows the Tyndall effect ?
(A) Solution of common salt (B) Milk

(C) Lemon Juice (D) Solution of copper sulphate
40 Hlett Sulej PH-HEU
(A)7 (B) 7 $Rcll AR (C) 7 $cll Y (D) 58 Rl ye

40. The PH-Value of bite of honey-bee is

(A)7 (B) More than 7 (C) Less than 7 (D) of any value

41 100 ml, 2M, NaOH slalll dalrsall HI2 Y2l UM NaOH ofl %32 ud ?

(A) 40 AUH (B) 8 AUH (C) 16 AULH (D) 24 JUH
41. To prepare 100 ml, 2M, NaOH solution, gram of NaOH will be required.
(A) 40gm (B) 8gm (C) 16gm (D) 24gm
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42, RelQU Wl Avls, SN U [(Asce] MRl 3edf sl & 2

(A) 7:2:1 (B) 7:1:2 (C)7:3:1 (D) 1:2:7
42. What is the ratio of iron, chromium and nickel in stainless steel ?
(A) 7:2:1 (B) 7:1:2 (C) 7:3:1 (D) 1:2:7

43 Qotlotl w0l d2AR scll HIR WotlHl 58 tlg GRRAUML WA B ?
(A) @3ttt (B) [Asc (C) clio) wacl UEl (D) Als (WUA)

43.  Which metal is mixed with gold to prepare its ornaments ?
(A) Platinum (B) Nickel (C) Copper or Silver (D) Zinc

4. pABA of Yelottd cull,

(A) QL AMA s AR (B) W22aM ARA AAls ARS

(€) WRAARAARA s ARS (D) U2 ARA AcREs AR
44. The full form of PABA is

(A) Para Amino Boric Acid (B) Pttasium Amino Basic Acid

(C) Para Amino Benzoic Acid (D) Para Amino Benzoic Acetate

45 Al s auRlAd ol ?

(A) LA LRI (SLACRL) (B) AUAMQS WLAR (c) (A8l s (D) AXaL
45. Where ammonia is not used ?

(A) Nylon fibres (B) Fertilizers (C) Explosives (D) Welding
46, A(@Qare] AAURS Y 9 B ?

(A) H,SO,4 (B) H2SO3 (C) H2S,0; (D) H,S,05
46. What is the chemical formula of oleum ?

(A) H;S0, (B) H,S0; (C) H;S,0, (D) H;S,05
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%®c(dstiet / Biology
47. AN, oll AcSl SAASR HSHGA Yrdlel YsollR deltlse] ottd wW.
(A) AL Bat (B) Aot &8 (C) Jcllel &8 (D) Algot ual (35
47. Give the name of scientist DNA molecules.
(A) Robert Brown (B) Robert Hook (C) Leuvan Hook (D) Watson and crick

48 58 clorUlA-U2ll Aol SlW R atd UR Usdloto] Yot URAA B ?

(A) gcslas Vel (B) 4gis Ueall (0) galds all (D) sRctsRlxs Neall
48. Which of the Plant tissue shows the pectin deposition on cell wall ?
(A) Collenchyma (B) Parenchyma (C) Sclerenchyma (D) Chloren chyma

49 gl A0l BoSGWodl cllARU HN,; Ul St & ?

(A) 3093] (B) AlsetolRaut (C) RS (D) UBoSH
49. Which disease is spread through influenza virus H;N; ?

(A) Dengue (B) Chickengunya (C) AIDS (D) Swineflu
50 (QottHl otiHsR0L Ut vuatR dstills

(A) Aot cgles  (B) 3Aad (@Al (0) stel cgu (D) Aol 35¢

50. Binomial nomenclature was given by the scientist

(A) Robert Whittaker (B) Carolus Linnaeus (C) Carl Woese (D) Ernst Haeckal
5L 5¢ (AlQe Ut ([Adatetl sulell (R ald W AsiAcl & 2

(A) ecllell slall  (B) ued () Blns stssi (D) 35l Wl
51. Which special structures are connected with wall of the lungs in class Aves ?

(A) Air Sac (B) Diaphragm (C) Spongy Bones (D) Booklungs
52, ynzésl well Aol

(A) W (B) £S5 () lletlet AU (D) A

52. Identify the protochordata Animals.

(A) Shark (B) Frog (C) Balanoglossus (D) Rohu

53. &iGoll YurRdl s A 58 © ?
(A) Aot (B) Al (C) PS-16 (D) WRM

53. Which is the improved hybrid variety of Wheat ?
(A) Sona (B) Sonalika (C) PS-16 (D) Paras

54 oflAsuuiedll sy Gueloll otell 2
(A) HieL3l (B) LUl (€) xeri{l (D) Rs8usl3l

54.  Which of the following is not consumer ?

(A) Carnivores (B) Herbivores (C) Autotrophs (D) Omnivores
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55 yrratudl 3Relell dRol dous decll sla ® 2
(A) 132 ol 200 AcH{le2 (8) 310 Ul 400 M2

(c) 310 &l 200 AQHle? (D) 300 &l 200 AAH2?

55. What is the range of wavelength of U.V. rays ?
(A) 132 to 200 nm (B) 310 to 400 nm
(C) 310 to 200 nm (D) 300 to 200 nm
56, oflActmiell 58 ol vt 2l Aoy wlEaicdl il Ay ad ® »

(A) LW (B) 2ellg s A (€) Wl2yesl ojf (D) QRLAUBRALS Y
56. Which of the following gland acts as an endocrine gland as well as exocrine gland ?

(A) Salivary gland  (B) Pancreas gland (C) Pituitary gland (D) Parathyroid gland

57 alyRy vl olu dclell ylsale] [(Azinel sal s\ gl A & ?
(A) U@ctla sl (B) R8ts S\ (C) el 51 (D) ul sly

57. By which cell the process of opening and closing of stomata is controlled ?
(A) Epidermal Cell (B) Guard Cell (C) Accessory Cell (D) Leaf Cell
58, Yud HofRiall HOLYo] doet 32 Sl B ?
(A) 1350 M (B) 1.350 IULH (C) 1530 UM (D) 3150 UM

58. What is the weight of the brain of an adult human ?
(A) 1350gm (B) 1.350gm (C) 1530gm (D) 3150gm
59 yopwall gEAML BUR UAAL WS Fecll & ?
(A) AR (B) 2R (A (D) s
59. How many upper chambers are present in human heart ?
(A) Four (B) three (C) two (D) one
60. ooty colRUA st(Audletl ol sAYRASHL UsUAA A & ?
(A) sllatylal: o Yacts (8) Alot 32t ofs (€)2s 32l us (D) A 32l o5
60. In which book endangered plant species names are published ?
(A) Endangered species book
(B) Green data book
(C) Red data book
(D) Yellow data book
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AHLBs [@Qstiet / Social Science

61 ngiystasell” (MR Rl AU B.
(A) WU3BUAA YZA  (B) WM (c) RlssH (D) GARIRAA
61. "Kanchenjungha" peak is situated in state of India.

(A) Arunachal Pradesh  (B) Asam (C) Sikkim (D) Uttaranchal

62. ool Al YUl ol€loll AYSl Yells sl ottHell B & ?
(A) ElRALOL (B) GdR (C) Aetell (D) dRLES

62. By which name the combined flow of river the Ganga and the Brahmputra is known ?
(A) Doab (B) Bangar (C) Meghna (D) Tarai

63.  ony-gi{lRMl AUAA 0 QR S cRULE AAA B ?

(A) Qe (B) AW (C) a1y (D) 512

63. Which area in Jammu and Kashmir is an area of scanty rainfall ?

(A) Leh (B) Ladakh (C) Jammu (D) Kashmir
64 olRcl Aol YAU ARAg] AR oldRal $1RQL A UY O ?

(A) YA (B) UsllHL (C) UL (D) AULS
64. Distance between India and Europe was reduced dueto______canal.

(A) Suez (B) Panama (C) Agra (D) Grand
65 5& olel cioumefl wislal Hadl «tell ?

(A) 58U (8) s1A31 (C) Hal (D) ot el

65. Which reiver does not meet to Bay of Bengal ?
(A) Krishna (B) Kaveri (C) Maha (D) Narmada
66.  flsotl Uil 9 dauRsaUMHL WA B ?
(A) st (GEREALE (C) Alw (D) 9j€R
66. What is prepared out of the liquid of Chid ?
(A) Catechu (B) Turpentine (C) Lac (D) Gam
67.  Ale wa AR (Aaune] ay Bl ugnddl oot 58 © 2

(A) AlA (B) USWIG () usLsl wHlot (D) stuell o {let

67. Which soil contains more combination of iron and Aluminum ?

(A) Red (B) Laterite (C) Desert (D) Alluvial

68.  Gscl MUSARA sl Bl HA B ?
(A) 58901l Hlel R0H (8) Rrictaetl QL udQar et
() eECall [QrcliAHl (D) WBH aleetl %ML

68. Where are the flying squirrels seen ?
(A) Greater Rann of Kutchch (B) At higher altitude in Himalaya

(C) Marshy land (D) In Western Ghats Forests
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69.  pogRActHi ML [Acts], YsuR uA ey 58 setlotl Ul & 2

(A) Gt (B) Lol R (€) [Qottatatl 412 (D) UlQgn wARUIA
69. Which class of Animals are desert cat Ghudkhar and bear in Gujarat ?

(A) Extinct (B) Endangered

(C) on the verge of extinction (D) Adversely (Vulnerable) affected
70. 58 o€l UR ollollafel ULIR Aol WA ] ?

(A) oleLetdl (B) (3wl (C) dotetst (D) s1a31
70.  On which river lies the Nagarjunasagar project ?

(A) Godavari (B) Krishna (C) Tungbhadra (D) Kaveri
71 a3Uell sletd YEal sll Ws H2 el B ?

(A) dAHLS (B8) UG (€) stoR (D) SU™

71.  For which crop, is Kanam region of Bharuch famous ?

(A) Tobacco (B) Wheat (C) Paddy (D) Cotton
72, oAl Mgl WAl WnetetH eid 5@ Aelalloll WALl sl ez U8 ol Aottmiell
56 AU otell ?
(A) GROFED (B) GUICOMASOL (C) NDDB (D) DARE

72.  Which institution of following does not purchase farm products from farmers as a

sustainable prize ?

(A) GROFED (B) GUICOMASOL (C) NDDB (D) DARE
73, sl ysiRell wHlot BuslEa Gl ytaell de ] ?
(A) sloll wlet  (B) A %ot (€) stuell oH{lot (D) USWLG %ot

73.  Which soil have been derived from the Deccan Trap ?

(A) Black Soil (B) Red Soil (C) Alluvial Soil (D) Laterite Soil

74 wflusl WiElAol” sall AU sRalll 2Ad &d ?
(A) @Qs1R (B) 9%l (C) uestot (D) GR{UA

74.  In which state was ‘Chipko Movement’ occurred ?

(A) Bihar (B) Gujarat (C) Punjab (D) Uttaranchal

75 gl Rad Qo QAudl Bar” 33 Guala ] ?
(A) 21-H1 (B) 5-%ot (C) 29-Sl16R (D) 4-252\01R

75. Which day is celebrated as “World Biodiversity Day” ?
(A) 21-March (B) 5-June (C) 29-Decemeber (D) 4-October

76. yau (Quyumi [QaeRell oitati-1lel Hofl set et 2R et dlal ?
(A) 23 (B) 32 (C) 20 (D) 19

76.  How many countries had plunged in to the first world war ?

(A) 23 (B) 32 (c) 20 (D) 19
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77, w(Qaliclell oldlell eSS $85 AEAHT U ol ?
(A) 1919 (B) 1819 (C) 1920 (D) 1820

77.  When was Jallianwala Bagh Massacre happended ?

(A) 1919 (8) 1819 (c) 1920 (D) 1820

78 giSl ML sl A3 U ?
(A) 124l AR 1930  (B) 12+l 1l 1931 (€) 12+l Wl 1930 (D) 12+l ANA 1931

78. When did Dandi March start ?
(A) 12" April, 1930 (B) 12" March, 1931  (C) 12" March, 1930 (D) 12" April, 1931

79, $0Qes el WARSIRA 253l Uolsatell 22U 531 A A3 e B.
(A) NATO (B) SEATO (C) CENTO (D) SWATO

79. England and America established military organization is known as

(A) NATO (B) SEATO (C) CENTO (D) SWATO
80. & 1971 ML "All Aol Aol ussIR' ol UM cuA sl o WA 53 2

(A) st (B) WErcllol (€) 02 (D) AUARSsL
80. In 1971 with which country India made traty ?

(A) China (B) Pakistan (C) Russia (D) America
8L auRAHl [@stoalstate(l @2 et ofl[Aett s Slat st ?

(A) LA OLELER AL (B) SLRAUSWUoL (€ UBd wattscAld 263 (D) sUHASR 2L ol
81. Who was the promoter of non-aligned movement from India ?

(A) Lalbahadur Shashtri (B) Dr.Radhakrishnan

(C) Pandit Jawaharlal Nehru (D) Shrimati India Gandhi
82.  sus ojloll YsIR sul Yol A AsnAA 8 ?

(A) AUAM (B) 3201 (€) GlR ygal (D) B3
82.  Which state is related to Kathak Dance ?

(A) Asam (B) Kerala (C) Uttar Pradesh (D) Orissa

83. R 2Rl sl
(A) uslladl ®. () Qs B. () RYda B. (D) AAUAAETY’ B.

83. The work by Amir Khusro is
(A) Padmawat (B) Ashikan (C) Raghuvamsha (D) Swapnavasanhattam
84.  gAeyR R ollde] AR cRUAeR GLEAS 5L &cll ?
(A) 6lleR (B) AHASOGR (C) eSSl (D) gHIY
84. Who Founded the city of Fatehpur sikri ?
(A) Babar (B) Akbar (C) Shahjahan (D) Humayu
85 mllyuUd USoll UHA ciusiMatl Aol Yadlzor sdala & ?
(A) &%l (B) ULAR (C) UEUR (D) §H1Y
85. Which Mughal emperor’s period is known as golden period of Indian architecture ?

(A) Shah Jahan (B) Babar (C) Akbar (D) Humayu
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86. (Aol Al M2l slcadja sl B ?
(A) RAHL2ABL (B) A AsY (C) ueyuld (D) HolIRA

86. Which is the world’s largest epic ?
(A) Ramayana (B) Ettutokai (C) Patthuppattu (D) Mahabharat

87.  ojtid ol Adotl Qeell A AUEll AU sall UBeAMl sl e B ?
(A) Ysd Qes (8) Aot Res (©) @ Nes (D) R(Act ugatl

87. In which literature a collection of dialogues between Buddha and his disciples is given ?
(A) Sukta Pitaka (B) Vinay Pitika (C) Abhidhamma Pitika (D) Milind Pahno
88. Mol €81 ArglAotl AAE A¥ wonilcdl o] otint Ul
(A) [A™e ynt (B) a(As () Al (D) 61l yont
88. Give the name of race known as creator of Mohen-jo-Daro Culture.
(A) Australoid (Nishad People) (B) Dravidian (C) Aryans (D) Negroid (Habsi People)
89. 3 UM, Ao, udly Mg, AU olis, &5 s€ Rl WRllot el wAcll Yt 58 ol ?
(A) s(as HEIRETES () WoNABS (D) ARRALS
89. Black complexion, broad head, flat nose, short height etc. were the physical features of the
tribe called....
(A) The Dravidians (B) The Armenoids (C) The Mongoloids (D) The Autroloids

90.  onfot 5(A A2 58 slA WA YSl oA Gl &cll ?
(A) HeA@QsitaRay (8) Qs dallay (C) w@sllot WAy (D) HellRURAY

90. German poet Goethe was so much impressed by reading which drama that he put it on his
head and danced with joy ?
(A) Malvikagnimitram (B) Vikramovarshiyam

(C) Abhignam Shankuntalam (D) Mahavir Charitam

91 ey} 518 URL WRSL UR UL Hd WS R [Aelas Hd (sREloL dle) slat a4l a3 B 2
(A) Guitalel (8) Gurrguld (€) guld (D) el (RUlsR)

91. Who can give the casting vote in case of a tie for any bill ?
(A) Vice Chairman (B) Vice President
(C) Chairman (Speaker) (D) President

92 oluRQlell YOO &5S1HL ol AotHill Sloll LA AA ol ?

(A) AHLotclloll &85 (B) ¥lllle] BUHIet scllell YWlall 855
(C) el cllell &55 (D) QL A 855
92.  Which one right is not included in fundamental rights in our constitution?
(A) Right of Equality (B) Insulting of women by men.
(C) Right to freedom (D) Right against explaitation

93.  opoRlcl AR UHA BaMi AdIL Aue AW @lAs Rl ML Fecll est Mdal

Ut Hcoll Woteus sctHl wcl ?
(A) 43 % (B) 23 % (C) 53 % (D)33%
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93.

How many parentage have been provided reservation for women entire nation including

Gujarat in local self-government organization.

(A) 43 % (B) 23 % (C)53 % (D)33%
94.  opegActHl soul 3ncloll Gt HIZ 58 Aol UHAML Y51 B ?
(A) HBel ollos  (B) URReUAL Ao (©) Qaucerl ollos (D) otiiel WlloS
94.  Gujarat has implemented scheme such as_____Bond to promote women education.
(A) Mahila (B) Saraswati (C) Vidyalaxmi (D) Narmada
95. 2001 ol A(A oA UofAR ARAML 1000 YN Bllo] YMIRL__ &d.
(A) 933 (B) 927 (C) 930 (D) 941
95.  According to 2001 census, there were____women per thousand men in India.
(A) 933 (B) 927 (c) 930 (D) 941
9. eued__ tud.
(A) UL (8) [AsRd (€) [Astlled HENGEEIE
96. Indiais country.
(A) Backward (B) Developed (C) Developing (D) Very Poor
97 oflActmiell sl Bl @QsRA otell 2
(A) Y. AR, (B) s Ulal (C) AW (D) sl
97.  Which country is not developed from following ?
(A) U.S.A. (B) Japan (C) Nepal (D) France
98. ol Acttmiell 58 Ygal AHAA Actl AxML Ul otell 2
(A) cAUIR (B) QUGL UA ARWA () A AA [Qxell (D) ugUEtst
98.  Which activity cannot be classified under service sector ?
(A) Business (B) Education and Health (C) Gas and Electricity (D) Cattle rearing
99.  dA@s2well oA ctuk A AstAd .
(A) UGS (IEEED () uzlds (D) vl USL LM,
99. The policy of globalization is associated with______
(A) Local trade (B) Foreign trade (C) Regional trade (D) All of these
100.  quRcMi sal cltlul dos ARBIR cly YeNEL [aistel Ul uaR sal  »?
(A) 1999 (B) 1981 (C) 1995 (D) 2002
100. In which year, Government of India passed air pollution control act in India ?
(A) 1999 (B) 1981 (C) 1995 (D) 2002
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